| 019-102

[ > restart:

[ > n:=31;a:=[1]:for i from 1 to 30 do
aa:=i*a[i]+(-1)N;a:=[op(a),aa] od:a;

n:=31
[1,0,1, 2 9 44 265 1854 14833 133496 1334961 14684570 176214840722932,

32071101049 481066515734 7697064251745 1308500922728648301661033953
44750731559645106 895014631192902121 18795307255050Q4
413496759611120779881 9510425471055777937262 2282302338670494289
5706255282633466762357224 14836263734847013582128782
4005791208408693667174771274 1121621538354434228898873

3252702461227859257745914274516 975810738368357377828235481

> b:=evalf([seq(a[i]/(i-1)!,i=2..7),seq(a[10*i+1]/(10 *)1Li=1..3)]
);

b:=[0., 0.5000000000 0.3333333333 0.3750000000 0.36666666HBUH55556
0.3678794643 0.3678794412 0.3678794)12

[ > fi=exp(-x)/(1-x);ff:=series(f,x=0,32);d:=evalf([coe ffs(convert(f
f,polynom),x)]):dd:=[seq(d[i],i=2..7),seq(d[10*i+1] i=1..3)];
e(-><)
f:=
1-x

1 1 3 11 53 , 103 7, 2119 16687 16481 ,,
=1+ X+ X+ X+ X+ X+ =X ®+ ? + X+
2 3 8 30 144 280 5760 45360 ' 44800

1468457 St 16019531 12, 63633137 13+246700777314+3436189398115
3991680 43545600 172972806 6706022406 93405312000
1554962475116+ 8178130767479 a7 1\’:’»854715653140918+ 92079694567171 Lo
42268262400  22230464256000 ~ 376610217984000  250298560512000
428236665642536920+ 72289643288657475)9(2 656\’:’»44062874794888722
11640679464960000 = 196503623737344000  17841281393295360000
3929927880601561131].23 9923922230666898717143 ,
106826515449937920000 26976017466662584320000
792535455921314828105135 5934505493938805432851513,
215433472824041472000000 16131658445064225423360000
140062629664639638712404529 46157264952857375588845101
38072970106357874688000000 1254684545727217532928000000
1161679450438521163480683669@] 33648646150633026804268078701
315777214062132212662272000000 9146650338351415815045120000000
2777789980662910109920753237)(21;9+ 0(?)
755081602771159120084992000000

dd :=[0.5000000000 0.3333333333 0.3750000000 0.36666666GBAE35556
0.3678571429 0.3678794392 0.3678794412 0.3678794412




[ > permut:=proc(l)
local n,vu,i,p;
n:=nops(l);
vu:=[seq(0,i=1..n)];
forifrom 1tondo
if I[i]>-1 and I[il<n+1 then
vull[i]]:=1,;
fi;
od;
p:=product(‘'vu[i]’,I'=1..n);
if p=0 then
return false
else
return true
fi;
end,;
permut := proc(l)
local n, v, i, p;

n:=nopgl);

vu:=[sed 0j=1..n)];

foritondoif-1<lI[i]and I[i] <n+1thenw[I[i]] :=1endif end do;
p :=producf{'w[i]')i'=1..n);

if p=0then return falseelsereturn trueend if

| end proc
[ > 1:=[1,1,2,3]:permut(l);

L false
[ > 1:=[4,1,5,2,3]:permut(l);

true

[ >



